ﬁ :4 Dual Rack

PV MOUNTING SYSTEMS

Dual Rack Dual Jack

ITEM NO Product Name Material Description
DR-CDJ-01 DR Dual jack 4.0"-Clear Aluminum Clear
DR-CDJ-02 DR Dual Jack 5.5"-Clear Aluminum Clear
DR-CDJ-03 DR Dual Jack 70"-Clear Aluminum Clear
DR-BDJ-01 DR Dual Jack 4.0"-Black Aluminum Black
DR-BDJ-02 DR Dual Jack 5.5"-Black Aluminum Black
DR-BDJ-03 DR Dual Jack 70"-Black Aluminum Black

Part Number Component Name QTY IN KIT
1 Dual Jack 1
2 5/16"x 3.5" Lag Bolt 1
3 3/8"x 1.5" Dual Hex Bolt 1
4 3/8" Flat Washer 2
5 1.5"x 5/16"x 1/8" Flat Washer 1
6 1.5" x 5/16" EPDM 1

@ Dual Jack

61.0"

40"/ 5.5" /1.0

© 2024 Dual Rack Inc. All rights reserved. 2290 Agate Ct., Unit A-B, Simi Valley, CA 93065 www.DualRack.net



ﬁ; Dual Rack

PV MOUNTING SYSTEMS

@ 5/16"x 3.5" Lag Bolt

(REMNRE
i

AL

i

M

P

AL

@ 3/8"x 1.5" Dual Hex Bolt

23/8"

Sna ®

@ 3/8" Flat Washer

03/8" H

®) 1.5"x 5/16"x 1/8" Flat Washer

® 1.5" x 5/16" EPDM

T‘ ‘ Dual Rack Inc.
| g‘ €‘ 2290 Agate ct. Unit A-B, Simi Valley, CA, 93065 Email: info@DualRack.net
L -

www.DualRack.net Phone: +1 (805) 254 - 2250

© 2024 Dual Rack Inc. All rights reserved. 2290 Agate Ct., Unit A-B, Simi Valley, CA 93065 www.DualRack.net



